PROBLEM-SOLVING

Monday

=¥ is due to arrive at 6.15 pm.
Your watch displays 5.55 pm.

How many minutes before
the bus arrives?

2. How many grams
per packet?

Tuesday

1. How many hours was the trip?
. Its speed was:

(T 10kmh L 1000kmm 1 100 kmih
] akmm ] 40 km/h
Wednesday

1. The difference between two numbers is 2.
The sum of the numbers is 16.

The two numbers are and

2. A chef dipped 7 of
48 ice cream cones in
melted chocolate.

How many have
chocolate?

Thursday

1. The difference between two numbers is 7.
The sum of the numbers is 17.

The two numbers are and

2. A chef baked 20 cakes. % had
icing and the rest had cream.

How many had icing?

~ New wave mental maths.

FRIDAY REVIEW

@ Round 185 to the nearest 10.

@ In 382, what is the place
value of the 3?

L] 100
L] 10
L]

@20 000 + 8000 + 600 + 7

@ Write three-quarters as a
fraction.

(5)(a) 34+36=

(b) even+even=______

@ Match the value of 318 to
an expression.

[ ]300+10+8
[ 1 300+8+100
[ 130+1+8

[ ] 3000+10+38

@ Jackie's mobile phone costs
25¢ per 30-second call.
What is the cost for one
minute?

4990,4995,

_,5010,5015

Share $35.00 equally
among 5 teachers.
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| Which is heavier?

Write the number sentence
for Question 15.

@ Which time is
five past 112

@ Which is the correct name

for a 5-sided polygon?
L] pintagon
L] pentagon
L] pendagon
L] bentagon
How long is line AB?
‘ |
cm A B

How many days are in a
common year?

@ What season follows
summer?

@ Complete the drawing
of a hexagon.

(

@ You buy paint in

/
mtres s

L1100 g 11 kg

@ A fair coin toss had the
outcomes of head, head and
head. The next toss will be: g
|| ahead. L
L] atail. ;
L] equally likely to be a

head or tail.
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PROBLEM-SOLVING

FRIDAY REVIEW

Week 9

Monday
Continue the pattern.
(77
@ @D S J
1 3 6 10

1. How many blocks in the 5th stack?

2. How many blocks in the 9th stack?

Tuesday

Complete the time line.

1910 1950 1990
| | |
I T I U

—»

Wednesday

1. Block A is 0.25 kg. The block below A is 4 times
A's mass, and each block below is 4 times the mass
of the block above. What is the total mass of the
4 blocks?

ORI, |

2. Using the problem above, calculate the mass of the
four blocks if A was 1.5 kg.

_kg

Thursday

1. Conor had 5 times more money saved than Charlie.
Conor had $100. How much did Charlie have?

2. The product of two numbers is 24 and the
difference is 5. The two numbers are:

and

28 New wave mental maths

descending order.

@ Write in
1 1 2 AL

5 2 3 4

lﬁl 1 1 1 l;!
@0 1 1
2

Each unit on the number line

represents:
I+ O+
L L
16 7
@65906 -

(5)$20.00-$7.90=

@ 50000 -8000=_ |

@ What is the cost of
buying 5 kg of cashews at
$11.50 per kg?

Write the next four multiples

of 6.
24,

@ 250,500, 1000,

11
@+
U] true L] false

0275+ =215

@ Write one hundred thousand
in numerals.

Write seven-tenths as a
decimal.

(16) 20 000 + 80 000 =

N
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AN

@ Will 36 = 9 equal a number
<10 or >107

Add two-thirds of an hour.

What type of triangle is this?

A

Date: 17 April
Time: 3 hours past midnight
Date: 18 April
Time: 1 hour past midnight

How many hours difference
between A and B?

@ How many grams are in

2.9kg?

(1299  [1290¢

[ 12900g L1209
@ Draw the top view.

@ Is this an acute, obtuse or
right angle?

What is the length of this
pencil?

-mm

@ Using Monday's spinner,
which 2 letters are equally
likely to occur? |
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